No. 1 &F 50m HEMHEF CEPN:
14:20
BER 26. 28 BS 26.42
&EIE R
1. A E (ERBE®RS ) =1 3 28. 96
2. BE EE (ERBE®R= ) =1 4 28.98
K 3 (EREFEHRS ) &1 6 29.20
4. B BRE (EREE®R=E ) =2 1 27.96
5. M THIF (ERBE= ) =17 29.25
6. &H E (ERBE ) ®1 5 29. 06
1. B8/ K#® (ERERH®E ) &2 2 28.86
8. XA {&kF (BERES ) @2 8 30. 14
No. 2 EBEF 50m BHk 2 A LiRBEE
14:21
BER 22.13 BES 23. 61
148 &IE BF
1. ( )
2. lulF  #5= ('Bh ) =11 26.29
3. R =3 (ERBHhE ) H2 3 26. 42
4. 7 BX (BERES ) =2 5 26.78
5. Bix BE (ERBEE ) &1 6 27.05
6. B i (RKB ) =2 2 26.39
1. BiE HEE (E45 ) &1 4 26. 51
8. ( )
2% b= ] B el
1. ( )
2. B B (KB ) &1 4 26. 20
3. T #x (FmE ) =2 1 25.33
4. FL EE (ERBEE ) &1 5 26. 38
5. HiA EE (FmE ) =2 6 26. 54
6. FAIER/NA < (KB ) =2 3 26.10
1. X B (BERES ) =2 2 25.60
8. ( )
3% b= ] =T
1. 4 D (KE& ) B2 b 25.25
2. MEE k= (ERBE®RE ) =2 7 25. 44
3. &%F KW (EREE®RE ) =2 4 25. 11
4. thf FIE (f g ) =101 24.05
5. T f{FER (EREFEHS ) &2 6 25. 41
6. B/NEFRIE (BEREFHS ) &1 2 24.35
7. RARTH (EREFEH®S ) &2 3 24.56
8. ( )




